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Psychology

Paper II

HAIaA
gyautrent 11

Time Allowed : 75 Minutes]
Note : This paper contains Fifty (50) multiple choice questions, each carrying

[Maximum Marks : 100

Two (2) marks. Attempt A/l questions.

U SRd. @E U Wi

A : A YA TR TE (50) qguAidl TR el SA goke WAl g (2)

Aguesia is the inability to

recognize :
(A) Tastes
(B) Colours
(C) Odors

(D) Shapes

Two-factor theory, that is a
combination of classical conditioning
and operant conditioning, is one of

the explanations of :
(A) Generalization
(B) Discrimination
(C) Shaping

(D) Avoidance learning

(A) =9
(B) T
(C) 7™

(D) 3R

fgoress SUgi S o1fvea stivygem
0T IR, ATHEHE I9ad 378
TIIRL0T HIAd ¢

(A) FE=IRTOTS
(B) 9gtehomd
(C) SR

(D) STITH=

[P.T.O.



Memory disruption that occurs due
to information presented after the
material that is to be remembered

is known as :

(A) Positive transfer

(B) Negative transfer

(C) Zero transfer

(D) Retroactive interference

A common logical error that people
make is to seek information that
supports their ideas rather than
evidence that would invalidate those

ideas. This is known as :

(A) Deductive reasoning

(B) The confirmatory bias
(C) Affirming the consequent
(D) Affirming the antecedent

Which part of the brain is
responsible for biologically driven

motivational processes ?
(A) Thalamus

(B) Hippocampus

(C) Limbic system

(D) Hypothalmus

JAN - 13218/I1—A
STt Tt TGN 18T SaTdel gl
Tifedi=n A feoed Afedfes
I ATl UM

(A) &9 HHAT
(B) U HHHT
(C) A HehHU
(D) Yeial =™

T GIYT=d dheIsl JAHT &1, &l

qREATIES AT a1 Ueeed QU=
Tifedi™ Tehed AT ST T Heudl

e S, I WA

(A) TS deRigA™

(B) STIEIRATH® JaUIg
(C) Bremrefl wfom
(D) Bk geferd!

~ N Wa o o N
HG AT Sh[OTAT 9T S{IEeh AT T=Ad Uieh

GfshAHIA STeleIqR 3Tl ?
(A) =d&THh

(B) e

(C) fHart ween

(D) HUTSAETHR




Match Column-I and Column-II by

using the codes given below :

6.
Column-I
(Psychologists)
(P) Cattell
(Q) Hathaway &
McKinley
(R) Holland
(S) Binet
Codes :
P Q [®)
A @ B @)
B) 2 @ @
© @®» @ O
M &) 1 @
7.

(1)
(2)

3)

4)

(S)
(1)
3)
4)
(2)

Column-II
(Concepts/
Scales)
Masculinity
Intelligence
Quotient
Mental
ability

Enterprising

The ego attempts to mediate

demands of id in relation to real

work according to :

(A) The pleasure principle

(B) The reality principle

(C) The primary process principle

(D) Both (A) and (C) are correct
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6. WY1 A0 TWY-II Iqr= SS9

qEil Hehdieal STHR IR A :

wY-I

(AT

(P) hed

(Q woa-HfhTed

(R) Bl
(S) fem

- -
-
.

(P)
A @)
(B) (2
© @

D) 3)

Q)
3)
(4)
(2)
(1)

(R)
(2)
(1)
3)
(4)

(1)
2)
3)
(4)

(S)
(1)
3)
(4)
(2)

wWY-11
(Heheudr/
HIUT)

TEY- T

HHaeh &9

7. IO OIS N Gefad HAETUE T8
HegEefihed HeaudrEl Yae  AT{ER

E x|

(A) @ T

(B) 99 d™

(C) HAYd Yfshar o<
(D) (A) =T (C) ® Tl &R
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(P)

Q)

(R)

(S)

Which of the following data
collection technique is not well suited

for studying attitude ?

(A) Questionnaire

(B) Direct observation

(C) Psychological tests

(D) Physiological recordings
Match List-I with List-II and select

the correct answer by using the

codes given below :

List-I List-II
Summated (1) Osgood
rating scale
Successive (2) Stephenson
intervals
method
Semantic (3) Likert
differential
Q-sort (4) Thurston
Codes :

P Q@ ® ©)
A 6 @ @O @
B @ @O @ @
© @ @ @©O 3
O @ & @ @

P)

Q

(R)

(S)
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SIfERI ATIATETS! ®Ieflal hiod T
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(A) Tt

(B) %= friem

(C) AMERTSE =Taua
(D) ¥Rk Wwifen

-1 enfor =Et-11 ammefier Seen man
9 Yeld Hehdledl R Id I AT

1T G-I
HHR (1) sitare
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P @ @R )
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B & 1 @ @
@ @ @O B
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10. Match List-I with List-II and select
the correct answer by using the
codes given below :

(P)

(Q

(R)
(S)

11.

List-I
Types of
Cutaneous
Receptors
Pacinian
corpuscle

Ruffini ending

Merkel ending
Free nerve
ending

Codes :

P)
A D
(B) (2
C) @)
D) 3)

Divided attention tasks require

the
(A)

Q)
(4)
(3)
(1)
(2)

(R)
(2)
(1)
3)
4)

subject to :

(1)

(2)

3)
(4)

(S)
3)
4)
(2)
(1)

many stimuli

(B)
(®)
(D)

List-1I
Modality
Best
Handled

Pressure

Pain and
temperature
Touch

Vibration

Respond quickly to one among

Attend to multiple stimuli
Search for missing features

Concentrate on the task
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10. IRH-1 9 Il-11 ATl Siredn e ST

(P)
Q
(R)

(S)

11.

TTele feoiedr Fehdie ™y ard W

Teret -
ret-1
AT TR
HhT
Ericifcaical
THIAT 3T
el 3
TR =AW 3T
Hehdieh :
P) Q)
A 1) @
(B) 2 (3)
©) @ @

D) 3) (@)

(R)
(2)
(1)
3)
(4)

(1)
(2)
3)
(4)

(S)
3)
(4)
(2)
(1)

rat-11
BTl
STUTRT Sgetal

<M

agAT 9 dT9HH
w3t

EL

IO fa9sE wEMe SRR &

TYe STHd :

(A) STAHRTUHT THT IETRHTAT NS

yfafswar 30
(B) 3T SEIUHIHES & whigd w0l
(C) -THerel HEm wiem
(D) MR & higd ol
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12.

13.

14.

In a variable ratio schedule :

(A) Brief pause in response occurs
immediately after reinforce-

ment

(B) Negligible responding immedi-

ately after reinforcement

(C) Rapid stable rate maintained

between reinforcements

(D) Generally lower rate of respond-
ing
The capacity of short-term memory

is assumed to be :

(A) 10 = 2
B) 5+ 2
(C) 6 =2
D) 7+ 2

Which of the following is not a

theory of reasoning ?
(A) Mental models
(B) Mental logic

(C) Prospect theory

(D) Probabilistic approach

12.

13.

14.
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qiErd ORI

(A) wfaferaa i aforer fasma

(B) UScIRI0Ma ol 0 gfafeman

(C) S YocAshiomq s Soig 3T gad
yfafsrar=n s

oo

(D) YATRIOMHdR HMHT=d:  Gidfsran

A o

o N0 (aV N
cTechllcieh TAET &HAT CATATh R

= Iq
(A) 10 = 2

2

I+

B) 5

(C) 6 =2

I+

D 72

ECATeTish! hiordl FagTd &1 FeRigHTT=n
fagia w2

(A) AHES &Y

(B) AMfd& T

(C) wree fagid

(D) G gfesdm




15.

16.

(P)

Q

(R)

(S)

Pancreas releases the following
chemical during and just after a
meal :

(A) Insulin
(B) Glycogen
(C) Pepsin
(D) Glucagon

Match List-I with List-II and select
the correct answer by using the
codes given below :

List-I List-1I
(Theorists) (Concepts)
Sternberg (1) Convergent
thinking

Cattell (2) Performance
intelligence

Guilford (3) Contextual
intelligence

Wechsler (4) Crystalized
intelligence

Codes :

P @ @R )

@A @ @ @O @

B) 2 B @ @

o o @ @ @

O @ @O 2 O

15.

16.

(P)
Q
(R)

(S)
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FAHIAA e AR TAfRIE 5
forfea =@

(A) Yo
(B) TerFehIfS
(C) uftwd
(D) eI
-1 T -11 A= S el S7ifor
1 e foeiean Hehdienre SER 4
S T ¢

TTe-1 rdt-11
(fagiaerm) (Hehea)
e (1) weef fo=m
Fhed (2) fac gfgem
firerere 3) "o sfgamm
ERGH (4) THicH Ffgam
Hehdich :

P @ @R )

A Q) @ @O @
B @2 B3 @ @
© @O @2 6 @
D @ 1 @2 3
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17.

18.

When a test ‘appears’ to measure
what it is supposed to measure,

then it has :

(A) Face validity

(B) Split-half validity
(C) Construct validity
(D) Concurrent validity

Which of the following is the
best example of an operational

definition ?

(A) Hypotheses are educated
guesses that can be confirmed

or rejected by evidence

(B) Class participation is the
number of times a student

raises his or her hand in class

()

Cognitive processes include
perception, remembering,

problem solving and

understanding.

(D) Reading ability can be used to
predict success in introductory

psychology classes

17.

18.
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X4

Siegl TETET IrEvigR et o
RIS 1 B o | o P E e S T B S
TEId 3THd degl o =M=l

(A) T Feneda

(B) srd-foese wenefa
(C) If=a Femedan

(D) w@erdt Fenefd

N

el R0 de HehIITcHsh  SATEa

gaid =Nl SeTedul A 2

(A) ST & Th F=IUT STd Si
TUATAT YR A fohal 79
B

(B) fammerf ferdr 9ol 3@ o HLdl

e =] OI‘Ifdr\l(d ESRA I
TS 1 Jar
(C) =hurcHes FfHamsd Hagd, T,

gAe TR 9 geS[ g

T Al

(D) 9M=F &Hda®T Yiefas AE-
AT Tdie I9ma qah e
FHIA A
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19.

20.

Item analysis of an aptitude test
could be performed by using :

(1) Alpha coefficient

(2) Item discrimination index
(3) Item difficulty level

(4) KR-20

Select the correct option from the
codes given below :

(A) (1) only

(B) (2) and (3)

(C) (3) and (4)

D) (2), (3) and (4)
The circle of Willis is :
(1)

Named after English anatomist
Thomas Willis.

2)

Formed by anterior branches of

internal carotid artery.

3) and

Formed by anterior

posterior communicating artery.

4)

Formed by posterior cerebral
branches of basilar artery.

Codes :

(A) (1) and (2) only

(B) (1) and (3) only

(C) (1), (2) and (3) only
D) (1), (2), (3) and (4)

19.

20.
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AfYerHar =i faum-fagersor s

Teeieh! el 9T had
(1) STTH FgEaY O

(2) faum %59 e

(3) faum =hifevd drdast

(4) &.3M.-20

[a oo

el fededr HhaeEm I gaiy
aer

(A) = (1)

(B) (2) 21 (3)
(C) (3) =7fur (4)
D) (2), (3) =for (4)

Hha 3 fafey

B

(1) a9 THeo 3US Heigess orag

faferq amee 9
(2) AR wUCS=A 3 R
EEG|
(3) 3 9 9vd Fouu Afeviiqy s d
(4) Sfaer Afevi=n 9v= weARE J1d
Hehdich :
(A) e (1) mfor (2)

(B) ®ad (1) 7fur (3)
(C) ek (1), (2) 0T (3)
D) (1), (2), (3) (U1 (4)

11
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21.

22.

23.

Choose the correct sequence that
occurs during transmission of a

nerve impulse :

(1) Action potential
(2) Refractory period
(3) Resting potential
Codes :

A 3) - (1) - (2)
B) (1) - (2) - 3)
€ 3) = (2 - @D
D) (1) - ) - (2)

The projective test that has been
used a great deal to measure

affiliation need is the :

(A) TAT

(B) MMPI

(C) Sarason Sociability Scale
(D) RIBT

In experimental research, the data

collected by the researcher are the :
(A) Primary variable

(B) Secondary variable

(C) Independent variable

(D) Dependent variable

21.

22.

23.
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AATTAT YV STEBUN AT 3T hH
IRESIEE:

(1) Trafava

(2) AfHATRIT AT
(3) fasmafeass
Hehdich :

A 3 = 1) - (2)
B) (1 - (2 -3
€ B = (2 - @

D) 1) - @B - (2)

JHYU IOl SYHN FeA T T

9 Higdl YHTOMER  Sh{vITHTa! ,
[S21ES I

(A) FHUER STHIRA =T=0f
(B) THgR =afrava sgymeeen =i

(C) IR THSTINd |91

(D) Jetiar=n ynEen fousRT=n =T
YT GINYA R YRR Uew

HINMERER Medl hel S
(A) Wigthes e

(B) 3= uRac

(C) @as IR

(D) et e

12



24. Which of the following is a correct

order of steps in test construction ?
(1) Development of norms
(2) Identification of construct
(3) Item analysis
(4) Validity analysis
(56) Test-retest reliability analysis
Codes :

A 2 ->B) =B - -1
B) B -4 - (B)—>(2) > @
C) 2 —-0B)—>03 -0 - @

M) (1) - (2) - 3) = 4 — (5)
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24. WTeATATRT HITE HHAT ATIUN

foRrTdie o= 4 %A SrEfad 2
(1) #Areern ffHd
(2) Gehoud A
(3) faum forgerom
(4) =enedar fagetomm

(5) |FAT-YAATATN favag=tadl
fawerso

Hehdiah :

A) 2) > B = (B) > @ — ()
B) B >4 —6B) -2 > Q)
) 2 —->06)->0 -1 >4

M 1) - (2) > B =@ — (5

25. Approaches to perception that | 25. HAgT JAIMEUITA SUNTH, SATTATT
involve direct reception of qiaemE e mifedt emfe oy,
information from environment are T
called :

(A) =S gfteshM
(A) Constructivist approaches
(B) Computational approaches (B) :
(C) Ecological approaches (C) uRRerfifomm s gftese
(D) Feature analytical approaches (D) d@Ji*l fergeToroT Cérbdq:ld
13 [P.T.O.



26.

27.

When reinforcement is contingent
upon number of responses given by

respondent it is :

(1) Fixed interval schedule
(2) Fixed ratio schedule

(3) Variable ratio schedule
(4) Variable interval schedule
Codes :

(A) (2) and (3) only

(B) (3) and (4) only

(C) (1) and (2) only

(D) (1) and (4) only

Information in long-term memory is

primarily stored in :
(A) Sensory form
(B) Semantic form
(C) Acoustic form

(D) Tactile form

26.

27.
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AT feeiean Fiafhar= HEier Sie]

JeIcientul ATeed 3Td degl d :

(1) a3
(2) TR IR A=
(3) TRadl U ST

(4) ARG HIAR ST
Hehdich :

(A) e (2) T (3)

(B) e (3) 0T (4)

(C) w (1) ofor (2)

(D) wa (1) 7T (4)

A Cc ~ o o N N a
Gleenllcien SHdld Alledl AlHedlH Cll

WeUd gefae S
(A) oA
(B) 3I9W
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28.

29.

30.

The wrong representation can
hinder your ability to solve a
problem, especially if you become
stuck on that one interpretation.

This barrier is called :

(A) The representational problem
(B) Algorithm interference

(C) A blocked solution path

(D) Functional fixedness

Selection of moderately challenging
tasks characterized the behaviour of

people who have :

(A) Fear of failing

(B) High need for achievement
(C) Fear of success

(D) Low need for achievement

DIQ is a measure of :

(A) Deviation 1in personality
disorder

(B) Deviation in intelligence
disorder

(C) Intelligence in standard scores

(D)

Intelligence in the form of

ratio 1.Q.

28.

29.

30.

JAN - 13218/II—A
qEE drefauars] qH= &l gehte
gfaffaET e aeid g vehd, farem:
TEETe fIeeis ol ST T IRl STees, Bldl.

Al ASYSRH UM

(A) A Toe
(B) ATNNGH S
(C) 3TeYadl UREr HFt

(D) FHcH% Taamegd

S FHR(HE Wellel eeh STHdl,
I HEAH HISUAr & Haguamme

A ¢
(A) sToFem=t ofidt

(B) HURATE YehtH TS

(C) JIemet offdt

(D) Ul HHl TR

SLAFF], T A W AR

(o)

(A) AfF fasdrdia |

ENE

(B) sifgw fagdmsia fauem

(C) fo=gem Tumda gfgrda A

(D) U SR IfgHTS AT

15
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31.

32.

33.

In a phantom hand experience there
is a :

(A)
(B)
©)

Visual and auditory mismatch
Visual and tactile mismatch

Proprioceptive and auditory
mismatch

(D)

Visual and proprioceptive
mismatch

Stimulus similar to original CS will
elicit similar response is called :

(A) Generalization
(B) Discrimination
(C) Shaping

(D) Substitution

Concepts are learned through
psychological processes. That are :

(1)
2)
3)
(4)

Select the correct option from the

generalisation
classification
categorization

discrimination

codes given below :
(A) (1) and (3) only
(B) (2) and (3) only
(C) (1) and (4) only
(D) (3) and (4) only

31.

32.

33.

JAN - 13218/I1—A
AU B B WA
(A) TH-YTA NG STTET THA
(B) Toh-E0%1 STYe ST{EY THA

(C) SAAEAT & Havme e ATeT
A

(D) = d FMIGAT 9 FATET
AT

e Sfafa SEaehrelt e STHe
3EUeh THH idfman 3o Sid e
TROldd ¢

(A) QHETRT

(B) AR

(C) AR

(D) gfqEemd=

AHEYTETE Gfhar=a STER WehedHl
¥Tehean SA@. N SR

(1) |HEITRT

(2) et

(3) WafTeRLul

(4) HEHTRT

Tl feded@r Thdaem I 99y

(A) (1) =mfor (3) wF
(B) (2) 371 (3) ek
(C) (1) smfur (4) e
(D) (3) MUT (4) ek
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34. Which of the following monitors the | 34. YRRr=n oTafies URfted™ omefitersh
internal states of the body ? FAUHR! HIUd 3TRd 2
(A) Drive (A) TR
(B) Homeostasis (B) wHRE
(C) Hemoglobin (C) THFafeA
(D) Needs (D) TSI
35. Spearman’s two-factor theory defines | 35. TeRET=1 fg-we® fagaIaRr gigmw=t
intelligence as : C2IEC2]
(A) Composed of multiple abilities (A) wgfay &war g ERIG]
(B) A global, unitary ability (B) afvash/Smifaes Uehen! &THaT
(C) Composed of 120 unique (C) 120 SIfgdia wreahr=n g CEIgRal
combinations e
(D) A set of primary abilities (D) Wofger &Hdr=n 99
36. A person is asked to respond to | 36. AN Siegl TEIS/TlTY IEUHAT
vague/ambiguous stimuli when WWWH@WWW
taking a : I
(A) Pencil and paper test (A) TR eTfor Ufme =Tl
(B) Projective test (B) 9&99 =Tl
(C) Personality inventory (C) AfFHE TMIEhT
(D) Behavioural assessment (D) oA HeIHIH
17 [P.T.O.



37. A researcher tries to make sure that

38.

(Types of Norms)
(P) Age Norms

Q

(R)

(S)

subjects in the experimental and
control groups are very similar to
each other in order to reduce the
effects of :

(A) Extraneous variable
(B) Random variable

(C) Dependent variable

(D) Independent variable

Match Column-I with Column-II by

using the codes given below :
Column-I Column-II
(Features)
Scores are

(1)

expressed in

SD units
Percentile (2) Sequential
Norms formation of

concepts and

motor skills

Ordinal Norms (3) Mental
development

Standard Score (4) Unequal

Norms units of
measurement

Codes :

P) Q @R )

A 3 @ @) @)

B) 2 @O G @

@O @ @ B

D 4 & @1 @

37.
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HYNYeh SKId S JacTgaish YRR
9 =701 TeTHed W Sedl WUS @il
HehTE R HHiGRH BRd

(A) e aRac
(B) sAfoa afee
(C) oTactet aRad
(D) T giEc

38. W91 ¥ wWY-II ¥ Sewn w@efd
HehdalhI=l SR A
wWe-1 wWY-11
(WTESTe UahR) (afyre=)
(P) oA AMGS (1) 9 forererrean
ST ATWIh
ENIEGESIGIN
(Q TCARMA AFeS (2) Geheud AUl
HRF HITCAT
HHAR A
(R) HHaMe® UMES  (3) HMaeH fasm
(S) uHIfd Wiaish  (4) WA
HGS I TH
Hehdieh :
P @ @R ©)
A 3 @ @ @
B) 2 @O B @
<Cc @ @ @ 3
D 4 & @1 @
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39.

40.

Fill in the correct numbers in the
blanks, from the choices given

below :

There are segments in

the human spinal cord : .....................

cervical, ...............o.ll thoracic,
..................... lumbar, ........cc...........
sacral & .......ccevunnnnn..n. coccygeal.
(A) 35 :10, 10, 12, 1, 2

(B) 31 :8,12,5,5,1

(C) 30 :10, 10,7, 1, 2

(D) 33 :9, 11,6, 4, 3

Gibson’s theory of direct perception

implies that :
(1)

Perception is used to adapt to

environment

(2)

Perception is used to control

action

3)

When observer moves, optic
array changes

4)

Sensory systems are perceptual
systems

Codes :

(A) (1) and (2) only

(B) (1) and (3) only

(C) (1), (2) and (3) only
(D) (1), (2), (3) and (4)

39.

40.
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weitel garEmYd e, I st e
S W

: 10, 10, 12, 1, 2
: 8,12, 5,5, 1
: 10, 10, 7, 1, 2
D) 33 :9, 11, 6, 4, 3

e &= 92 Hagqran fasa o™
TR

(1)

HoGAE TR qREemR Jeoqd
YIS shedl STl

Fagarar suAn fedar sy
SATUTUATS] shell STl

fréterer Bordl, degl g% feRaCE
EGH|

defeh T &1 Taga=A TLEAT
AYdrd

Hehdieh :

(A) e (1) T (2)
(B) ek (1) AT (3)
(C) &K (1), (2) =71 (3)
D) (1), (2), (3) 3701 (4)

(2)

3)

(4)

19
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41.

42.

43.

When an operant response is
built by method of successive

approximation it is called :
(A) Higher order conditioning
(B) Reinforcement

(C) Shaping

(D) Generalization

model of memory

proposes physical, acoustic and

semantic parts.

(A) Structural model

(B) Connectionist model
(C) Processing model

(D) Non-declarative model

The activated portion of long-term

memory is called :

(A) Declarative memory
(B) Working memory
(C) Sensory memory

(D) Procedural memory

41.

43.

JAN - 13218/II—A

Sadl e USdIgR Siegl SATIR
Afugema serfuqa & S1d Il

TR
(A) =3 Afts sifage
(B) Hecitehul

(C) 3rehu

(D) WTETERTO

qfqer, wafqer 2T TR YR Aresa
3T

(A) TAICHS I&Y

(B) STIS¥ATHE UTEY

(C) wfhad wreq

(D) 37-NYUMIcHeh W& Y

<refwifas wdrdia afea e

U
(A) ENUTCHE ST
(B) hifdeh Hat
(C) =& wl

(D) ufshaTcHer T
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44. In attempting to find and purchase

45.

high-quality cosmetics, Hema

reminds herself that most expensive
brands are the best. Hema’s self-

reminder illustrates the use of :

(A) An algorithm

(B) A heuristic

(C) The farming effects

(D) Functional fixedness

A substance that can act directly
on brain receptors to stimulate

thirst is :

(A) Angiotensin

(B) Endorphin

(C) Lipoprotein

(D) Acetylcholine

JAN - 13218/II—A

44, I=HYUET Gigd THEEET WY AT o

45.

T BRE] HOAEIS, §HT Wl A3

T ol T FENTS! SIed & ANTall STed.

A Tl TSI U 3aTel0l Bl

B“El?ﬂ"TEvTI%:

(A) ST

(B) et
(C) Tesifa qftomy

(D) SEfoaReGd

A= TEeR 9O Uiy e o Safud

HE IHUR TeY
(A) TftsfefA
(B) T=fftha

(C) <Y

(D) THIHIARICAA
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46.

47.

48.

Galton attempted to measure
intelligence in order to demonstrate

that intelligence was determined

by :

(A) Heredity

(B) Experience

(C) Neither heredity nor experience
(D) Both heredity and experience

Which of the following test is most

similar to Rorschach ?
(A) TAT

(B) 16 PF

(C) TMAS

(D) MMPI

Which of the following is not a
descriptive/correlational research

method ?

(A) Survey

(B) Experiment
(C) Case Study

(D) Naturalistic Observation

46.

47.

48.
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Mo Jfguad A YT &TehTgR

FTITE YIA hell, THR Ffgad &

fuifd a9 -

(A) 3FgeT

(B) 13y

(C) STHAY Tl 3T9a SIeral el

(D) 3Tga¥ ST STIHa SIarer

EATeTUeh! ShIvTdt ST=ron USTH=AT SAT=oM9i
et e ?

(A) HAETH THIGA =T=0N

(B) 16 AfFH™ w<H

(C) o Hiihie TR whet

(D) THAER =frav sgymeEen =i

fa = o} o} (v o
CllAdlet enlVidl H&dl %°r AUYY [endl

TSl HYNYE ggdl A ?
(A) TaeT
(B) 93

(C) Afrda
(D) Tty feor
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49.

(P) Guilford

Match Column-I with Column-II
and give your answer with the help

of codes given below :

Column-I

(Psychologist)

(Q) Cattell

(R) Wechsler

(S) Binet

50.

Codes :

(P)
A) @
B) )
C) @)
D) (2)

Q)
(2)
(4)
3)
(1)

(R)
3)
(1)
(2)
4)

(1)

(2)

3)

(4)

(S)

4)

(2)

(1)
3)

Column-II
(Terms/
Concepts)
Measure of
‘e’ factor
Performance
factor

Fluid
intelligence
Content and

operations

The following is not a structure

included in the meninges :

(A) Mastoid process

(B) Piamater

(C) Arachnoid membrane

(D) Duramater

JAN - 13218/II—A

49, WY-1 3701 WH-II I Sean e

9 el dehdreal MER SO o7 ¢

wWY-1

(ATEITER)

(P) firose

(Q) A
(R) TR
(S) fem

K3 -
-
.

P)
A D
B) 3)
C @
D) (2)

Q)
(2)
(4)
3)
(1)

(R)
3)
(1)
(2)
(4)

(1)

(2)
(3)
(4)

(S)
(4)
(2)
(1)
3)

wWH-11
(Heheur/
aferee)
SiT-Feh™
AT

fada wes
ESIRIE TSRl
CINPECI|
Fat wfswa

50. & HRIShIeRUMde ST ATer :

(A) HEEE Ty

(B) Hg 3R

(C) S AT

(D) §@ AR
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ROUGH WORK
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